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72 t("MSE Z[E gk " + st I(y,predict It
str(mse_val(predict_result,y))) print( ISEL: " + str(mse val(y,predict_result))
154 |from tensorflow.keras.utils import np_utils import tensorflow as tf
193 |y_acc=history.history['acc'] y_acc=history.history['accuracy']
284  |generator.add(Conv2D(128, kernel_size=3, ... generator.add(Conv2D(64, kernel_size=5, ...
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83 al_diff = -(1/len(x_data)) ~ al_diff = -(2/len(x_data)) ~
a2_diff = -(1/len(x_data)) ~ a2_diff = -(2/len(x_data)) ~
84 b_diff = -(1/len(x_data)) ~ b_diff = -(2/len(x_data)) ~
Ir = 0.05 Ir = 0.02
85 al_diff = -(1/len(x_data)) ~ al_diff = -(2/len(x_data)) ~
a2_diff = -(1/len(x_data)) ~ a2_diff = -(2/len(x_data)) ~
b_diff = -(1/len(x_data)) ~ b_diff = -(2/len(x_data)) ~
(T OFH A O M) 7t E3 = -
331 71583 = w31yh1+w31yh2=1(HtO[O{ A
w31yh1+w41yh2=1(Ht0| 0] A) = weynTrwEly (sForof=)
332 |(7HIW ) walyh2 w31yh2
335 [(BZh (yo1-yot) (yO1-yt1)
IO 3.70| ¢ TtojM 3.7
9  |OfLF2Ct oo ET 37 HMER 200
HMER 20 Aata 23
H o] x| 23 H +9 =
257, 258 [model fit(padded_x, labels, epochs=20) model fit(padded_x, classes, epochs=20)
31,35,38, .
163 loss="mean_squared_error' loss='binary_crossentropy’
A
43 |18 2-4 .
a
o |PREeT R
y=ax2 y=amx
def mse(y_hat, y): def mse(y, y_hat):
return((y_hat, y)**2).mean()) return((y-y_hat)**2).mean())
72 def mse_val(predict_result, y): def mse_val(y,predict_result):
return mse(np.array(predict_result), np.array(y)) return mse(np.array(y), np.array(predict_result))
print("mse X&Zk: " + str(mse_val(predict_result,y)))|print("mse %5k " + str(mse_val(y,predict_result)))
 MSE(ab ° MSE(a,b
78 poMSE(a,D) oa (a, b)
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78 |—MSE(a,b — MSE(a, b
da (a.b) i) ( )
2 2
78 [ (ax +b—y)llax,+b—y)Y - (ax + b= yol@x +b—y)Y
78, 80 |b_diff = -(1/len(x_data)) * sum(y_data - y_pred) b_diff = -(1/len(x_data)) * sum(error)
79 Ir = 0.05 Ir =0.03
80 a_diff = -(1/len(x_data)) ~ a_diff = -(2/len(x_data)) ~
b_diff = -(1/len(x_data)) ~ b_diff = -(2/len(x_data)) ~
235 |2& 16-9, Y_hiolA 512742 L& 128749 LE
—1& 16-9
2 EE0l2(50%
5 |sum c2or2Esw) At 12(50%)
“ R IR I K R K K K R
252 |22 1741 I K O G G G G i O | K E
R N I N N I K K
253 |model.add(Embedding(16,4) model.add(Embedding(16,4))
312 [(10M} &) model.add(Activation('sigmoid")) model.add(Activation(‘'softmax'))
329 (Ve — Yor)' (Vez = Yoz )'
330 |23® 7532 yo10] CHal ~~ J2{H yo12 7H5230] CHol ~~
331 f(x) =x? f(x) = x“
355 [from goolgle.colab from google.colab
| o] X| 8 © =8 =
84, 85 |b_new = -(1/len(x1_data)) * sum(y_data - y_pred) |b_diff = -(1/len(x1_data)) * sum(y_data - y_pred)
98 plt.scatter(x, y) plt.scatter(x_data, y_data)
148 |—-6"H® & np.random.seed(3) numpy.random.seed(3)
251 |-&Eh AA ALC word_size = len(t.word_index)+1 |word_size = len(token.word_index)+1
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